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QUESTION 1

It is important to analyze queries that involve joins with EXPLAIN because... 

A. Joins are more prone to mistakes. 

B. Using EXPLAIN before executing the query helps the server prepare the statements used. 

C. Joins have the potential to cause more server processing if not defined correctly. 

Correct Answer: C 

 

QUESTION 2

Consider the following: 

mysql> DESC customers; 

+--------+------------------+------+-----+---------+----------------+ 

| Field | Type | Null | Key | Default | Extra | 

+--------+------------------+------+-----+---------+----------------+ 

| id | int(11) unsigned | NO | PRI | NULL | auto_increment | 

| name_1 | char(20) | YES | MUL | NULL | | 

| name_2 | varchar(20) | YES | | NULL | | 

| name_3 | varchar(20) | YES | | NULL | | 

| email | varchar(50) | YES | | NULL | | 

+--------+------------------+------+-----+---------+----------------+ 

mysql> EXPLAIN SELECT * FROM customers WHERE name_1 = \\'Johnny\\'\G 

*************************** 1. row *************************** 

id: 1 

select_type: SIMPLE 

table: customers type: 

ref 

possible_keys: i_name_1_01,i_name_1_02 

key: i_name_1_01 

key_len: 21 
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ref: const 

rows: 1 

Extra: Using where 

What can be assumed by looking at the key_len column? 

A. No indexes are being used. 

B. The full index is being used. 

C. The partial index is being used. 

D. The longest index is 21 characters long. 

Correct Answer: B 

 

QUESTION 3

Consider the following GRANT statement: 

GRANT USAGE ON *.* TO \\'kofi\\'@\\'localhost\\' IDENTIFIED BY \\'password\\' 

What is the implications of executing that statement? 

A. Kofi can access all database objects. 

B. Kofi can access all his tables. 

C. Kofi can display server system and status variables. 

D. Kofi can grant privileges to others. 

E. Kofi can access all database objects belonging to localhost. 

Correct Answer: C 

 

QUESTION 4

Why should one preferably group multiple statements for InnoDB tables within a transaction whenever it is possible? 

A. It minimizes bandwidth usage. 

B. It helps keep log file sizes down. 

C. It minimizes the amount of flush operations needed. 

D. It helps reduce the chance of the transaction failing due to a bad query. 

Correct Answer: C 
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QUESTION 5

In the following query, the Population column is indexed: mysql> EXPLAIN SELECT Name -> FROM Country ->
WHERE Code LIKE \\'%B%\\' AND Population > 10000 \G 

*************************** 1. row *************************** 

id: 1 

select_type: SIMPLE 

table: Country type: 

ALL possible_keys: 

i_pop key: NULL 

key_len: NULL 

ref: NULL 

rows: 239 

Extra: Using where 

Which of the following best describes how to deal with the key value of the EXPLAIN output? 

A. Use FORCE KEY. 

B. Use USE INDEX. 

C. Use FORCE INDEX. 

D. Use USE POSSIBLE_KEY. 

Correct Answer: D 
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